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408 [RUCHFT 2T L N=FIF N T z= )L =—F )L 2 0 2
410 [RUGFLTFLo)=/= LT ==L T—F)L 7 70 10 1 88
427 [ "YL 78 78
428 | 7= /T INT 60 71 131
457 |7V RA 65 492 73 630
& 7 392 1,831 272 201 274 9 2,980
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ESZZGEV e [ )
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Gikes bl | AR [BiBRER | AR WAl 5 EdA ne
22 |74 m=1 1 105 107
BT LT NP AR R OF DT L
30 |F/VEDRFEHD003514FETOLD J IZ DR 196 4 4 74 278
EWIZIRD)
53 |[=F LB 434 374 28 836
57 |=FLoJ)a—LE/)=F)LT—F)L 26 26
64 |Th7=r Ty s X 32 28 44 76 8 188
80 [F Lo 849 732 25 94 25 1,725
86 |[ZL Y —/L 124 60 52 237
17 [T7aFy— 113 113
139 [FFEANY 23 1 3 26
140 [Z=o 7Ry 49 49
153 [T T AN 952 14 12 175 1,153
171 [ ara)y — 98 98
181 [/~ P 888 756 651 2,296
207 |2,6-Y—tert-7F/L-4-7L V' —)L 58 47 105
225 [N Zajbky 0 0 0
248 |\ ZATV ) 5 11 9 25
251 |Z7==FaFA> 627 540 24 1,191
252 |Z7=rF A 69 86 74 230
256 |7 H PR 18 18
275 |RT VIR TR A 0 0
297 |1,3,5-FUAF LB 105 105
300 |[MLTy 4 3 7
346 |2-T =)L T =) —)L 432 432
350 [~V AR) 25 46 39 62 169 26 368
405 [1ZHFEY 11 1 12
RIA X =F L N)=T INF )L T—T (T ILF )L
407 |FEDORFED12PBI5ETOLD K OZEDIRE 26 19 17 1 63
IZBRD)
408 RV FLTFLN=AIF N T =)L =—T )L 4 4 8
410 [RIFFLxFLo)=/= LT z=)LT—F /)L 52 162 139 4 358
427 [ B RYL 570 570
428 | 7= /)T IINT 440 470 910
457 |7V R A 474 1,142 984 2,600
B i 2,871 4,252 3,662 1,471 1,815 63 14,133
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64 |Th7=r Ty 10 4 6 27 3 50
80 [F Ly 261 98 4 34 9 405
86 /LY —L 18 19 7 44
U7 |[5y7apy—n 40 40
139 [horANY 3 0 1 5
140 |7 x> 7 a/XR) 7 7
153 [T I AN 138 4 2 25 169
171 [Fuvatry—n 35 35
181 [Y7up~r P 129 232 87 448
207 |2,6->—tert-7 F/L-4-7L -/ — )L 8 7 15
225 |N)ZajLky 0 0 0
248 | FATY ) 1 3 1 5
251 |Zx==FuF4> 192 72 3 268
252 |T=vTFH 10 26 10 46
256 |7 H PR 6 6
275 |RT I IVERER TR A 0 0
297 |1,3,5-RIAF LBV 38 38
300 [Pro—y 1 0 2
346 [2-T7x=NTx)—)L 155 155
350 [~LARY 4 14 5 9 61 10 102
405 [1I2F G 2 1 2
RIAFL ZFLL)=T AF L T—F (T LF/L
407 |FEDRFBENI21515ETOED K OZDIREGY 4 6 2 0 12
[ %))
408 [RIAFLZFLIN=AIFNT =)L T—F)L 1 1 2
410 [RIFFLxFLo)=/=)LTz=)L=—F /)L 8 50 19 1 77
427 [ "YL 83 83
428 |7 /)T IINT 64 169 233
457 |7V RA 69 351 131 551
& H 416 1,305 488 213 651 23 3,097

(3)-21




73-1-42 FHRANARD THEE D BRI - 3t AL W E R O PEHH S HEEHRE B CF ESZZGET“ Rl )
RERETAA I BET T (kg/ZE
3 W4 EA] PR A [ AAE R /EYJ\%??iﬂJ Azt
Gikes bl | AR [BiBRER | AR WAl 5 EdA ne
22 |47 u=)v 0 41 41
BT LT NP AR R OF DT L
30 |F/VEDRFEHD003514FETOLD J IZ DR 44 2 1 29 76
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57 |=FLoJ)a—LE/)=F)LT—F)L 10 10
64 |Th7=r Ty s X 14 8 10 29 3 64
80 [F Lo 372 207 6 36 10 631
86 |[ZL Y —/L 28 26 15 69
17 [T7aFy— 43 43
139 [FFuAR)Y 5 0 1 7
140 [Z=o 7Ry 11 11
153 [T T AN 215 6 3 40 264
171 [ ara)y — 38 38
181 [/~ P 201 332 184 717
207 |2,6-—tert—7 F/L—4-UL Y —)L 13 11 24
225 |FZwjLiky 0 0 0
248 | ATV ) 1 5 3 9
251 |Z7==FaFA> 275 153 5 433
252 |Z7=rF A 16 38 21 74
256 |7 H PR 7 7
275 |RT VIR TR A 0 0
297 |1,3,5-FUAF LB 40 40
300 |[MLTy 2 1 3
346 |2-T =)L T =) —)L 166 166
350 [~V AR) 6 20 11 14 65 10 126
405 [1ZHFEY 2 1 3
RIA X =F L N)=T INF )L T—T (T ILF )L
407 |FEDORFBENI20H15ETOLD K OZDIRE 6 8 5 0 19
IZBRD)
408 RV FLTFLN=AIF N T =)L =—T )L 2 1 3
410 [RIFFLxFLo)=/= LT z=)LT—F /)L 12 71 39 2 124
427 [ B RYL 129 129
428 | 7= /)T IINT 99 181 280
457 |7V R A 107 501 278 886
B i 649 1,864 1,036 333 698 24 4,603
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86 /LY —L 42 34 13 89
U7 |[5y7apy—n 55 55
139 [horANY 8 0 1 9
140 |7 x> 7 a/XR) 16 16
153 [T I AN 321 8 3 59 390
171 [Fuvatry—n 48 48
181 [Y7up~r P 299 426 166 891
207 |2,6->—tert-7 F/L-4-7L -/ — )L 20 16 35
225 |N)ZajLky 0 0 0
248 | FATY ) 2 6 2 10
251 |Zx==FuF4> 353 137 8 498
252 |T=vTFH 23 49 19 91
256 |7 H PR 9 9
275 |RT I IVERER TR A 0 0
297 |1,3,5-RIAF LBV 51 51
300 |y 2 1 3
346 [2-T7x=NTx)—)L 211 211
350 [~LARY 8 26 10 21 82 13 161
405 [1I2F G 4 1 4
RIAFL ZFLL)=T AF L T—F (T LF/L
407 |FEDRFBENI21515ETOED K OZDIREGY 9 11 4 0 24
[ %))
408 [RIAFLZFLIN=AIFNT =)L T—F)L 3 1 3
410 [RIF X F L )= /= VT x=)LT—F )L 18 91 36 2 146
427 [ "YL 192 192
428 |7 /)T IINT 148 229 377
457 |7V RA 160 643 251 1,053
& 7 967 2,394 932 495 884 31 5,703
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139 [hFaAR~ 5 0 0 6
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171 [ ara)y — 18 18
181 [Prmp~ P 205 446 169 821
207 |2,6-Y—tert-7F/L-4-7L V' —)L 14 11 24
225 |FZwjLiky 0 0 0
248 | ATV ) 1 6 2 10
251 |Z7==FaFA> 370 140 6 516
252 |Z7=rF A 16 51 19 86
256 |7 H PR 3 3
275 |RT VIR TR A 0 0
297 |1,3,5-FUAF LB 19 19
300 [hr—y 2 1 3
346 [2-T7x=/LTx/)—)L 78 78
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405 [1ZHFEY 2 0 3
RIA X =F L N)=T INF )L T—T (T ILF )L
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139 [FFaAR 5 0 1 7
140 |7 x> 7 a/XR) 11 11
153 [T I AN 210 7 3 39 258
171 [Frva)y—iu 55 55
181 [Y7up~r P 196 356 189 740
207 |2,6->—tert-7 F/L-4-7L -/ — )L 13 10 23
225 |N)ZajLky 0 0 0
248 | FATY ) 1 5 3 9
251 |Zx==FuF4> 295 156 5 456
252 |T=vTFH 15 41 22 77
256 |7 H PR 10 10
275 |[RF ViR 2 0 0
297 |1,3,5-RIAF LBV 59 59
300 |y 2 1 3
346 [2-T =/ Tx/)—)L 244 244
350 [~LARY 6 21 11 14 95 15 163
405 [1I2F G 2 1 3
RIAFL ZFLL)=T AF L T—F (T LF/L
407 |FEDRFBENI21515ETOED K OZDIREGY 6 9 5 1 20
IZfR5)
408 [RUCHFT 2T L N=FIF N T z= )L =—F )L 2 1 3
410 [RIAFv=FL )= /=) Tz=)LT—T )L 12 76 40 2 130
427 [ "YL 125 125
428 | 7= /T INT 97 265 362
457 |7V RA 104 537 285 926
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57 |=FLoJ)a—LE/)=F)LT—F)L 29 29
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80 [F Lo 860 292 9 103 28 1,292
86 |[ZL Y —/L 43 61 21 125
17 [T7aFy— 124 124
139 [hFaAR~ 8 1 3 12
140 [Z=o 7Ry 17 17
153 [T T AN 331 14 5 61 410
171 [Ferary—iu 108 108
181 [Prmp~ P 308 766 260 1,334
207 |2,6-Y—tert-7F/L-4-7L V' —)L 20 16 37
225 |FZwjLiky 0 0 0
248 | ATV ) 2 11 4 16
251 |Z7==FaFA> 634 216 8 858
252 |Z7=rF A 24 87 30 141
256 |7 H PR 19 19
275 |RT VIR TR A 0 0
297 |1,3,5-FUAF LB 115 115
300 [MLxy 4 1 5
346 2T x=/LT7x)—)L 477 477
350 [~LAR) 9 46 16 22 187 29 308
405 [1ZHFEY 4 2 5
RIA X =F L N)=T INF )L T—T (T ILF )L
407 | RORFBEDI2DHI5ETOLD K OZEDRE 9 19 7 1 36
IZ[R5)
408 RV FLTFLN=AIF N T =)L =—T )L 5 2 6
410 [RUGFLTFL )=/ LT ==L T—F)L 18 164 56 5 242
427 [ B RYL 198 198
428 | 7= /)T IINT 153 519 671
457 |7V R A 165 1,157 393 1,714
B i 997 4,304 1,463 511 2,001 69 9,345
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17 |72y — 27 27
139 [FFaAR 9 0 1 10
140 |7 x> 7 a/XR) 18 18
153 [ThI AN 361 8 6 66 441
171 [Frva)y—iu 24 24
181 [PZ7un~_u P 337 416 311 1,064
207 |2,6->—tert-7 F/L-4-7L -/ — )L 22 18 40
225 |N)ZajLky 0 0 0
248 | FATY ) 2 6 4 12
251 |Zx==FuF4> 345 258 9 612
252 |T=vTFH 26 47 35 109
256 |7 H PR 4 4
275 |[RF ViR 2 0 0
297 |1,3,5-RIAF LBV 25 25
300 [Pro—y 2 2 4
346 [2-T =/ Tx/)—)L 105 105
350 [~LARY 10 25 19 24 41 6 125
405 [1I2F G 4 0 4
RIAFL ZFLL)=T AF L T—F (T LF/L
407 |FEDRFBENI21515ETOED K OZDIREGY 10 11 8 0 29
IZfR5)
408 [RUCHFT 2T L N=FIF N T z= )L =—F )L 2 2 4
410 [RUHF> 2T )=/= VT z=)LT—F )L 20 89 67 1 177
427 [ "YL 216 216
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